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2M: 83
HE: (0|2 2H
Chel: QU E A& 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 4,400 4,400 0
01 At 22l 4,400 4,400 0
OEZ=HXTRAAS 2 4,400
FHAHESO0ISAE ML 35,400 28,000 7,400
308 XXM SO0l A 35,400 28,000 7,400
01 IXNHHBNEES 35,400 28,000 7,400
OFAANE 0ISAE 2UHBINE =F3XZ 35,400
H=AHU E=(21) 107,520 87,360 20,160
= 96,000
< 11,520
403 XIS S X201 & 107,520 87,360 20,160
= 96,000
< 11,520
01 XXM 22 = 107,520 87,360 20,160
OEgd M=AHU wMAXH X 107,520
= 96,000
< 11,520
2R QALANY HIINA(2D) 480,000 600,000 120,000
2 480,000
403 UHXSHHSA=0l& 480,000 600,000 A 120,000
= 480,000
01 X SHMA2LE L 480,000 600,000 A 120,000
OT2 MHIAEHX HZAS 480,000
= 480,000
SHARI WEIA N2 (2D) 4,377,343 1,970,800 2,406,543
2 3,367,187
< 1,010,156
308 XXM SOl A 4,377,343 1,970,800 2,406,543
= 3,367,187
< 1,010,156
01 IXNHHBNEES 4,377,343 1,970,800 2,406,543
O=3dsx ZJIHX N& 3,010,176
= 2,315,520
< 694,656
OZRASA HAMZEX &X 34,667
= 26,667
< 8,000
OPM - NOxS Al M Z & X & Xl 975,000
= 750,000
< 225,000
OAHEIIAH MHANMZEX &X 201,500
= 155,000
< 46,500
OLPGet= A+ &I XY K& 156,000




fN: 23
M HoEd 28
Chel: QU E A& 22 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 120,000
< 36,000
QIR SEZd2ZAS 83H X (=22) 4,300 4,300 0
= 4,300
201 £B-2dH| 1,000 1,000 0
= 1,000
01 At 22/l 1,000 1,000 0
ORIZEZZANEH CHUHES £ EE2 M 1,000
= 1,000
301 et a = 3,300 3,300 0
= 3,300
09 &AL HI B &S 3,300 3,300 0
Ogtl2tesdEd QI2tol Adl24 3,300
= 3,300
Olglol S&xt&ol LPGRH & X2 (=1) 520,000 227,500 292,500
= 400,000
< 120,000
308 MtXIEHSOIH 520,000 227,500 292,500
= 400,000
< 120,000
01 HXNHHBHEELS 520,000 227,500 292,500
OO e ol S&Xteel LPGRH M8 K& 520,000
= 400,000
< 120,000
OASX HEedE® =8 28,000 0 28,000
201 LB-2EH| 28,000 0 28,000
01 At 22l 18,000 0 18,000
OQDIMYX s =2UES 18,000
03 & Ar2 Gl 10,000 0 10,000
OZ3&E OIMEX H2 2l 10,000
220 H#HE =AY OofIEe ZA 100,000 0 100,000
308 XX EHH SOl A 100,000 0 100,000
01 HXNHHBHELS 100,000 0 100,000
O R HIdHEYE FHXSA TOoiPe A 100,000
MEHH JHA 15,268,796 34,194,087 N 18,925,291
= 11,764,999
< 3,503,797
HEH HIol=2 2= 5,641,785 5,808,587 A 166,802
= 4,907,760
= 734,025
ot 2 of2Addl HE(=21) 481,900 534,200 A 52,300
= 427,000
< 54,900




2M: 83
Hu: MEsZ N
S MEA HII2 EE2X™e (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
403 XXM S X201 481,900 534,200 A 52,300
= 427,000
< 54,900
01 XXM A2E = 481,900 534,200 A 52,300
Ootdat= HEtArY 481,900
= 427,000
< 54,900
HOI22 ¢t3F XHel 388,600 388,600 0
202 odl 8,000 8,000 0
01 = LH o4 1l 8,000 8,000 0
OXdE=g Hd&s HREFA 8,000
308 XtXIEHH SOl A 380,600 380,600 0
01 HXNHHBHELS 380,600 380,600 0
oOZASILANU 2 380,600
Hs2%2I)I8 =HMde 23 (2HEFXE) 124,835 124,847 A2
403 XXM S X201 124,835 124,847 A2
02 SO 2SOICHSH A2 X 2 A I 124,835 124,847 A2
OsALYE, ST =HAYE 223 124,835
Zd0IE HMeXJA(=21) 4,014,060 4,173,120 A 159,060
= 4,014,060
403 XAXISH M S K201 A 4,014,060 4,173,120 A 159,060
= 4,014,060
01 AXSHMA=2EE 4,014,060 4,173,120 A 159,060
CEEYO0E Heldl & XA 4,014,060
= 4,014,060
SZEHHY +=HEBAZ XA (21) 230,000 240,000 A 10,000
= 230,000
308 XXIEHSOIA 230,000 240,000 A 10,000
= 230,000
01 AXNSHHZBANEES 230,000 240,000 210,000
SEHHE =8 X& 230,000
= 230,000
SSHGE &5 XA (=1) 402,390 347,820 54,570
= 236,700
< 165,690
403 XXM S X201 402,390 347,820 54,570
= 236,700
< 165,690
01 XXM A=2E = 402,390 347,820 54,570
O=ZHHE SsdoY &= 402,390
= 236,700
< 165,690




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

HOIZ2X2ANE== 9,627,011 28,385,500 A 18,758,489
= 6,857,239
< 2,769,772

MY Il A2AE EX(=12) 3,764,600 15,758,300 A 11,993,700
= 2,285,000
< 1,479,600

403 MHXSHHSA=0l& 3,764,600 15,758,300 A 11,993,700
= 2,285,000
< 1,479,600

01 X ESHHMA=E L 3,764,600 15,758,300 A 11,993,700
oMddl A2AA4 X 3,764,600
= 2,285,000
< 1,479,600

SIS HXAHI0I2ItA S AFE(=21) 3,276,100 4,250,000 A 973,900
= 2,698,000
< 578,100

403 UtXISHH S =0l & 3,276,100 4,250,000 A 973,900
= 2,698,000
< 578,100

01 XM A2E X 3,276,100 4,250,000 A 973,900
ORIEHUHEBIOI2ItASH AHS 3,276,100
= 2,698,000
< 578,100

SOHEHIISHAL &X(22) 1,000,000 2,197,000 A1,197,000
= 850,000
= 150,000

403 XIS E X201 & 1,000,000 2,197,000 A 1,197,000
= 850,000
< 150,000

01 XXM 22 = 1,000,000 2,197,000 A 1,197,000
OsUHEHIIEM2AE &X 1,000,000
= 850,000
< 150,000

Hae suttg 83 X|(22) 145,911 343,200 A 197,289
= 112,239
< 33,672

403 XHXI EHHI S Xt =20 ® 145,911 343,200 ~197,289
2 112,239
< 33,672

01 X SHMA2E X 145,911 343,200 A 197,289
OME MY I ZeltiE HEAE X 145,911
= 112,239
< 33,672

MEHIIZ WYAL SX(21D) 750,000 0 750,000
=2 500,000
< 250,000




2M: 83
M MEs A
S HIISMeAMNESHS (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
403 UHXSHHSA=0l& 750,000 0 750,000
2 500,000
< 250,000
01 X SHMA2E X 750,000 0 750,000
OMEHIIS WAL &X 750,000
= 500,000
< 250,000
SAZ28 HII2 HMeAE Ex(=21) 690,400 0 690,400
= 412,000
< 278,400
403 MtXISHHE X201 & 690,400 0 690,400
= 412,000
< 278,400
01 XM A=2EE 690,400 0 690,400
O=sa=2F HJII= XM2AE &X 690,400
= 412,000
< 278,400
BEFAASH 3,000 3,000 0
AHIssE oy 54 =8 3,000 3,000 0
MY 4 MEAH =4 3,000 3,000 0
201 Let2d] 3,000 3,000 0
01 At 221l 3,000 3,000 0
oszagy 54 & 23 =24 3,000
o2 9,409,089 12,516,250 A 3,107,161
= 2,915,940
s 3,450,000
< 3,043,149
TolEd BE U AL HE 6,689,600 8,577,000 1,887,400
= 1,429,000
s 3,450,000
< 1,810,600
AASHAEN 0IEANE =4 (=31) 4,394,000 2,574,000 1,820,000
s 3,380,000
< 1,014,000
403 MHXI S E X201 & 4,394,000 2,574,000 1,820,000
s 3,380,000
< 1,014,000
01 X SHMA2E X 4,394,000 2,574,000 1,820,000
OZd stEtE s ME2sAlE =4 1,079,000
as 830,000
< 249,000
OZE& 1A GeoPark =4 1,300,000
s 1,000,000
< 300,000




2M: 83
M QGHESEEN
ol RolEE SR U AM HE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSt=DMZE St MA S HAIZ2 JHA 1,040,000
s 800,000
< 240,000
OZE3 2MF=Z0dH A8 975,000
= 750,000
< 225,000
HSAE & 2te] 207,000 207,000 0
202 04l 7,000 7,000 0
01 = LH 4 Hi 7,000 7,000 0
OXNHSH=Z20F R 7,000
307 glz2+ol & 150,000 150,000 0
05 RIZHRI &3 150,000 150,000 0
OXgatsd 24 150,000
308 MHXIEHSOIH 50,000 50,000 0
01 X HHILEES 50,000 50,000 0
OABA= YEHFAEHX A 22| 50,000
SN IS EEE 24 (=D) 780,000 1,200,000 A 420,000
2 650,000
< 130,000
403 UHXSHHSA=0l& 780,000 1,200,000 A 420,000
= 650,000
< 130,000
01 HXHMA=2E X 780,000 1,200,000 A 420,000
OSoHAl BHECH2H MEI23EEZ2 420,000
= 350,000
< 70,000
O AL (EE) MEI=2SEYZ 360,000
= 300,000
S 60,000
DMZ MEHH BN WEEZ(21) 400,000 400,000 0
= 300,000
< 100,000
308 MtXIEHSOIH 400,000 400,000 0
= 300,000
< 100,000
01 HXNHHBHELS 400,000 400,000 0
OSt=DMZE MBS DT X2 400,000
= 300,000
= 100,000
MEpRIEXY NE Y S4(21) 284,700 260,000 24,700
2 219,000
= 65,700
308 XX EHHSOIA 284,700 260,000 24,700
= 219,000




2M: 33
HM: JoHsAdEA
ol RolEE SR U AM HE (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 65,700
01 AIKISHHENEXZ 284,700 260,000 24,700
OMEf 22X XNE 2 4 284,700
= 219,000
o= 65,700
FAad sFPI2 ) 29(=21) 286,000 314,286 N 28,286
= 200,000
= 86,000
307 QI2t0| & 286,000 314,286 N 28,286
= 200,000
& 86,000
02 QI2tAMAIE E X 286,000 314,286 N 28,286
OFAYE sHFNE Tz ) X 286,000
= 200,000
& 86,000
20l MEHME 22 ZEAY(=21) 118,900 255,000 A 136, 100
Fag 70,000
& 48,900
403 XX SHHS K20 & 118,900 255,000 A 136,100
= 70,000
= 48,900
01 IS A2 X 118,900 255,000 A 136, 100
OOMe ol MEIMEZRZ2 =4 118,900
Fag 70,000
=} 48,900
CXA SANESXE 22 50,000 40,000 10,000
308 XAHXIGH SO0l & 50,000 40,000 10,000
01 AXHHNIMNEXS 50,000 40,000 10,000
OSANESXE HUXA 50,000
A SR 22Es X 8,000 0 8,000
307 QI2t0| & 8,000 0 8,000
02 QI2tAAMAIE E =X 8,000 0 8,000
OAMSEHH 22 I 8,000
A2 SXETAl T2 2H(=21D) 78,000 78,000 0
= 60,000
= 18,000
308 XAHXIEHSOIA 78,000 78,000 0
= 60,000
= 18,000
01 AIXSHMENMNEX= 78,000 78,000 0
OEANZE SANEZA sZ28 X 78,000
= 60,000
= 18,000
MECOAdH 28 2 XHI)isst 2™ =48 33,000 68,000 A 35,000




2M: 83
M QGHESEEN
ol RolEE SR U AM HE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 8,000 33,000 A25,000
01 At 22l 8,000 8,000 0
os=2s &2t 8,000
307 glz2tol & 25,000 20,000 5,000
02 HAHFHAANGFEX 25,000 20,000 5,000
Odiel ¥AEHWSEZ ) 29 25,000
M40 [HHEES 83 MOIL K& 50,000 0 50,000
307 21201 A 50,000 0 50,000
04 QIZFHALAIH B & 50,000 0 50,000
OHM403 XMHHES M= AHOILE XI& 50,000
Ords - Al 25 2l 2,719,489 3,939,250 A 1,219,761
= 1,486,940
< 1,232,549
OrMESE Taiolg(=2) 940,822 829,750 111,072
= 762,940
< 177,882
403 MHXSHHSA=0l& 940,822 829,750 111,072
= 762,940
< 177,882
01 XM A=LE L 940,822 829,750 111,072
OOt ESE IloH ol 940,822
= 762,940
< 177,882
MEOYY ZelHY XNA(21) 88,000 88,000 0
= 60,000
= 28,000
308 XXM SO0l A 88,000 88,000 0
= 60,000
= 28,000
01 IXNHHBNEES 88,000 88,000 0
Od=ltedd 2 A 88,000
= 60,000
< 28,000
OHMsE2 X 22MH 29(=1) 446,667 395,000 51,667
= 134,000
< 312,667
307 21201 A 446,667 395,000 51,667
= 134,000
< 312,667
02 LAFAAFEX 446,667 395,000 51,667
OOt =s=E X 2eldlH 29 446,667
= 134,000
< 312,667




2M: 83
dM: GAsEZEA
el OfMS - A2 25 22l (SH9: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oY s - A8 B3 400,000 250,000 150,000
308 AHAIEHHSOIA 400,000 250,000 150,000
01 HXNHHBHELS 400,000 250,000 150,000
OOt == Hai24 X 400,000
MEHH WS HHAY 200,000 150,000 50,000
308 XX EHH SOl 200,000 150,000 50,000
01 HIXNHHNBNEES 200,000 150,000 50,000
OMEHH REE HMAALY 200,000
OlSHYd MEfwetE MA(=1) 600,000 650,000 A 50,000
= 500,000
< 100,000
308 XXM SOIA 600,000 650,000 A 50,000
= 500,000
< 100,000
01 AXHHIYEES 600,000 650,000 250,000
Ofisd L¢3 &3 HAE MA 600,000
= 500,000
< 100,000
NAXIAEBEI2XA(21D) 44,000 44,000 0
= 30,000
< 14,000
308 XX EHHSOIA 44,000 44,000 0
= 30,000
< 14,000
01 HXNHHNBHELS 44,000 44,000 0
OMAXIAEEI| 2K & 44,000
= 30,000
< 14,000
HHZA s88 2l 537,000 842,500 A 305,500
= 330,000
< 207,000
= TE3A 22 212,000 500,000 A 288,000
= 80,000
< 132,000
= - TESY 2g & 22 20,000 220,000 A 200,000
201 €24 6,000 6,000 0
01 At 22l 6,000 6,000 0
O3d <&z 24 6,000
202 odl 9,000 9,000 0
01 = LH o4 1l 9,000 9,000 0
Ooz3zel R 9,000
301 et A3z 5,000 5,000 0




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIEA S 5,000 5,000 0
O33 33 SFTAM 5,000
NEz3@d 2N (=) 120,000 180,000 A 60,000
= 80,000
< 40,000
308 XXM SOIA 120,000 110,000 10,000
= 80,000
< 40,000
01 AXHHILEES 120,000 110,000 10,000
OXNZEZEd 2IXNE A 120,000
= 80,000
S 40,000
ZREIRNG NEZ2H 22 72,000 0 72,000
201 Let24d] 40,000 0 40,000
01 At 22l 20,000 0 20,000
OZ3EsXd NE2Zd 29 20,000
03 & Ar2 I 20,000 0 20,000
OXNZEZEMHEAN s S 20,000
308 XX EHHSOIA 32,000 0 32,000
01 X HHILEXS 32,000 0 32,000
O=JNEZE 29 ¥ 2l 32,000
OMZ MEHXSE == 325,000 342,500 A 17,500
= 250,000
< 75,000
DMz MERAXS FWF(=1D) 325,000 342,500 A 17,500
= 250,000
< 75,000
308 AHAIEHHSOIA 325,000 292,500 32,500
= 250,000
< 75,000
01 HXNHHBHELS 325,000 292,500 32,500
Fons ¢ g 325,000
= 250,000
< 75,000
ST NASAX =4 48,800 61,000 A 12,200
He3=2dgs 2t 48,800 61,000 A 12,200
QHSAMX 29 22| 48,800 61,000 A 12,200
308 A EHHSOIA 48,800 61,000 A 12,200
01 HIXNHHNBHEES 48,800 61,000 A 12,200
OsSL=Y NHSAX 22l 48,800
HY2AZ G (F ) 70,649 69,828 821
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